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g : Vec(V )× Vec(V )→ C∞(V ) :

���	 ���� X ∈ Vec(V )� g(X,X) ��� ��� �������� � �����	� ≥ 0� �	����� 
�� �����	�
> 0 �� ���� ����� 
� V �� X ��� ��� ���� ��	 �������� �� V ��� ������� 
��� �
������
�����
��� E3� �� 
����� ��� ���	���� g �� ������  gm(X, Y ) =< Xm, Ym > !�	�
���
������	� 
��� �
������ �����
���"� #��� 
�����	�	��� ���� ����	������� ��
�� ������
���$��	� 
� ������ ���	����� 	������������ !�	��������� %�&�' 
� �(����	� %"�

�� ������� ��

�
��
 � ��	 V �� 
����� 

��� �����������

(X, Y )→ ∇XY


� Vec(V )×Vec(V ) 
��� Vec(V )� C∞(V )�������	� �� X � R�������	� �� Y � �� ��	�����
�� ������� �� ����
��� �  

!)" ∇X(uY ) = u∇XY + (X.u)Y ���	 ���� X, Y 
��� Vec(V ) �� u 
��� C∞(V ).

�� ����	� ∇Y �
����������� C∞(V )�������	� X �→ ∇XY �
�� 
�	� ��
��� ����� ��������� �	���	�� ��� ���	���� 	����������� g ��

!))" X.g(Y, Z) = g(∇XY, Z) + g(Y,∇XZ) ���	 ���� X, Y, Z 
��� Vec(V ).
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 �� ������
 
���� ����������� ��
���� ����� �
����

�
� �� �
� ����� ��

�
��
 ∇ �������	
� �
� �������� ����	

��

� g� �����	
� �

���� �	 ��
�����
 (���� �� ��	���� �����) � ∇XY −∇YX− [X, Y ] = 0 ���� ���� X, Y �

[�
 	������ ����� ��

�
��
 �	 ��������� 
� *����+����� ���	���� � g].

��	 �������� �� V ��� ������� 
��� �
������ �����
��� E3� �	����� ���	 g(X, Y )
�� �	�
��� ������	� �����
��� < X, Y > ����� ���
������ ,� �(��� 
� ������	� Y
��	 V ��� 
���� ��	 ��� �	��� ��������� ���	
������ u, v, w 	����������� � ��� ����
�	�(���	��� �i,�j,�k 
� E3  Y = u �i+ v �j + w �k� #�����

DXY = (X.u) �i+ (X.v) �j + (X.w) �k

�� �(���� 
� ������	� ��	 V 
��� E3� 
��� ��� ����������� ���� ��� 
�	����� 
��
����������� 
� Y ��	 	����	� � X  �� �(��� DXY �
��� ���� ��������	�����
������� � V � ���� ��� ����� ��	 �� �	�$������ �	�(������� pT �� �(���� ����� ��	
�
������ ������� � V �
����

∇XY = pT (DXY )

Connexion de Levi-Civita sur une surface plongée dans E3

Plan tangent

X
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��������� ��� V ��� ����������� ��
��� ��� 	
������	� �� ��� ������������ � ���

������� ��� ���������� V �

��� �������	 
���	 
���	����

�	�� ∇ �
� �	

���	
 ��� V � �
 �	��� �	�� �	�� ������ 
� �������� X, Y, Z �

����� R(X, Y )Z = ∇X(∇Y Z)−∇Y (∇XZ)−∇[X,Y ]Z.

��������� ������ �� ����		� R �� �	������ �� 	� ����������

��	�
�
	 ������ ������� ��� R ��� C∞(V )����	������� �� X, Y, Z�

��	�
�
	 ������ ������� ��� �� ∇ �������� ��� �������� ������������ g ��� V �

�� �������� ����
�� ���� ���� X, Y, Z1, Z2� 	� �����	�  

g
(
R(X, Y )Z1, Z2

)
+ g

(
Z1, R(X, Y )Z2

)
= 0

�� ��� ��� 	� �������� ��� �
���������� �� � �� (Z1, Z2)� ��	��������� � g�

��� ��������� 
����	������
��� 
���	 �����
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����	�	
� �	�� ���
���
� V 	���
���� �� ��
�� 
��
� ����� �� �����

��

�
g� �	�� U = (Ui)i �
 ���	������
� 
� V ��� 
�� 	������ Ui �� 
����� 
� �����


�� ���� �� ������ �
 ����� 
� ������� 	���	
	���� 
������ (Ai, Bi)�

!	���� ��
� 
� (∗∗)� ∇Ai 
	�� "��� 	���	#	
�� $ Ai� 
	
� �	��
����� $ Bi� ∇Bi


	�� "��� 
� �"�� �	��
����� $ Ai� �� g(∇Ai, Bi) = −g(∇Bi, Ai)� 
��  �� �� �	

���	

∇ ��� V �������� �� ����� �� g � �� ������ 
	
� �
� %�&	��� ωi ��� ��� �� 	����� Ui

�����  ��� ����������
� �� ������ �	��� (Ai, Bi)� ∇ �� �� �	������ R ��������
� �{
∇Bi = ωi Ai ,

∇Ai = −ωi Bi .
�
 �
 
�
��� �

{
R(X, Y )Bi = dωi(X, Y ) Ai ,

R(X, Y )Ai = −dωi(X, Y ) Bi .

�
 ����� �
�	�� �
 ����#� �

∇|Ui
=

(
0 ωi

−ωi 0

)
�� R|Ui

=

(
0 dωi

−dωi 0

)
����������
� �� ������ �	��� (Ai, Bi)�

��� ���
��������	
 Ui ∩ Uj 
� 
��� 
�� 	������ 
� ���	������
�� �� ������ �
�
&	
���	
 
�'���
������ θij : Ui ∩ Uj → S1 $ ������� 
�
� �� ������ S1 = R/2πZ �����
 �� {

Aj = cos θij Ai + sin θij Bi,

Bj = − sin θij Ai + cos θij Bi.

�� ���� ��		�
� �� �
����	� �	��� ��� ����� �	��	���� ��� �
 	������
 ���� �� ���� ��� �������	�

�� ��� �� �	���� �	�
���
�� O(2) ��� ����� � ���
������ ��� ���	���� 2× 2 �
��������	������



� �������	 
� �
 	�	���	 ��������	

������� (∗)� ∇Bj = (ωi − dθij) Aj . 	
 �
 �
���� � ωj = ωi − dθij ��� Ui ∩ Uj�
��� ���
��
������� dωi �� dωj �� ��������
��� ������������ ���
����
� ��� Ui ∩ Uj � ��
������� ����
��
��
� R ����������
� � �
 ����� �� ������� �����
���
� ������� 
�
�
��
� ��
� ��� �� ��������� �� �� � ���� �
� !�"���� Ω� #��$�����
� �
%
�� ��� ����
V � "���
� ��� ��������
� � ���� �� ��
� �� ����������
 � ������ ������ Ui ��� 
#��� �
dωi� 	
 
���� �
 �$�
#
 �

R =

(
0 Ω
−Ω 0

)
.

	
 ������� � ������ ������������
 Pf : so(2)→ R ���� � ����� ������� 2× 2 �
���&�

�
������

(
0 a
−a 0

)
������� �� 
��$��

1

2π
a� �� ���
 ���� Pf(R) =

1

2π
Ω�

�	�����	 
���
� �� "������(
cos θ − sin θ
sin θ cos θ

)(
0 a
−a 0

)(
cos θ sin θ
− sin θ cos θ

)
=

(
0 a
−a 0

)
� ����� ��� �� ����
��
�����
 ��'��
�� �� SO(2) ��� ��
 ��#�$�� �� ��� so(2) ���
�������� (�� ��� ��� 
����
� ������� �� #����� SO(2) ��� �$
���
)� �� ��� �� �"�*�

��� ��
� �
�����
� ��� ����� ����
��
�����
� +�� ��
���� �� 
���� ��� �
�����
� ��� ��
����
��
�����
 ��'��
�� �� O(2) ��� so(2) � ��� � ������(

1 0
0 −1

)(
0 +a
−a 0

)(
1 0
0 −1

)
=

(
0 −a
+a 0

)
.

�������	 
���
 (,�����-�

��)�

(i) �� �	�
��� Pf(R) �
� �������

(ii) �� ���

� �� �
�
�
�
��� [Pf(R)] ���
 �� �
�
�
�
��� �� �� ���� H2(V ;R) ��

������ �� �� �� �������� ������������ g� �� �� �� �
�����
� ∇ ���
������ g� ����
�� ������ ��� �� ��
��������
� �� V � �� ��
� ������ ��
��������
� �� V � �� ���

� ��

�
�
�
�
��� [Pf(R)] ������ �� 
�����

(iii) �� �� 
������ V �
� �
������ �� 
������ ��� �����������

χ(V ) =

∫
V

Pf(R)

�
� �� ������ ���� �� !�� ������ �� ������ ��
 �� ��
��������
� �� V �

(iv) ���� ���
�� �� ����� �� �������
 v 
�� V 
��
 
����������� �� ���

� [Pf(R)] �
�
������

�� ���� �� 	
��� 	
 �� �
����� � ���	
����� �� ������������ ��
���
 	���
 ������
 �
��
 ��
 dθij �
�� ���� �
�
���
�
��� �� 	
����� �� �������
 ���� �
 ��� 
� 	���	�
 r� ����
 
���� �� �
�����

���!�"�
 Pf : so(2r) → R ��� �����#��
 	
 $�
 so(2r) 	
� ������
� ������!�
�����
� 	
 �����
 2r�
�����#�
 	
 	
��
 r� ��%������ ��� �� �
��
�
������� �	&����
 	
 SO(2r) ��� so(2r)� '�� ����
 
��

��� ( 1

(4π2)r ���� �
 	
�
��������

)� *�
�� ��
���
�
�� ���� ���
��� �� 
���
� ��� ���
������� ��
 ���� � ��������
 Ω 
� 	�%�����
��� 2π 	��� �� 	
������� 	� ��� 
��
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������� Ω ��� �	
�����
� �� �� �	��� dωi� �� ��� 
���� ��� Pf(R) ��� �������
�	�� ∇′ �
� ����� 
	

���	
 ��� V � ��������
� �� ���� �������� �����

��

�

g ��� ∇� �
 
	�� h : Vec(V )× Vec(V )→ Vec(V ) �������
���	


h(X, Y ) = ∇′
XY −∇XY.

����� �����
���	
 ��� C∞(V )�����
������ �� 
����� �
�	�	������� h(X, .) ��� �
���
���������� ����������
�  g !

g
(
h(X, Y ), Z

)
+ g

(
Y, h(X,Z)

)
= 0 �	�� �	�� X, Y, Z.

�	�� (A,B) �
 
���� �	
�� �� ���"��� 	���	
	���� ����
� ! �� ������ ��� �	�
�
�	
�����
�� �
� #��	��� X �→ λ(X) ����� ���

h(X,B) = λ(X) A, h(X) A = −λ(X) B.

�������

h(X,− sin θ A + cos θ B) = λ(X)(cos θ A+ sin θ B),

	
 ���� �

	�� h(X,B) = λ(X) A �	�� �	�� ����� 
���� �� ���"��� 	���	
	����
����
�� (A,B)� �� �	��� ��� ��� #��	���� �	
���� λ 
� ����
��
� ��� �� (A,B) �� ��
��
	���
� �
 �
� #��	��� λ ��$
�� %�	������
� ��� �	�� V �

�� ��	
 �	�� ∇′Bi = ω′
i Ai� �� ��&���

� ω′

i − ωi ��� �%���  �� ������
��	
 �� λ  
Ui� �	��� �� �	��� λ ��� ��$
�� %�	������
�� 	
 �
 ������� 
	��
� R′ �� 
	������
�� ∇′ !

Pf(R′)− Pf(R) =
1

2π
dλ .

'�� 
������ �� 
	�	�	�	%�� [Pf(R)] �� [Pf(R′)] �	
� �	

 ��� ������
�� ��	
 
��
%� ��	���
����	
 �� V � �� 
����� �� 
	�	�	�	%�� [Pf(R)] 
��
%� ��

��%
�� ���� �� 
����� �	
����
���� [V ] ��� �������� 	
 ���
�"%�� 
��
%� �%�����
� ��
��%
� ! ���
��%����

∫
V
Pf(R) = [Pf(R)] � [V ] 
� 
��
%� �	

 ����

'��
��%������ �� χ(V ) ���� �
 
	�	������ �� ���	�"�� �� �	�

����(	��  ��
��
��	
 )� �� ���� ��� ���������	
 (iv) * �� �� ������ �	�� �
� �����
� 
	���
��
	���
����� ���� ���	
����  ������
�
� #�)�+ �� 
� 
��������

,
$
� �� ���� ��� ���
�����
� ��,������	�

��� -�	

 �� 
����� ��,����. 
� ����
��
��� �� �� �������� �����

��

� g� ��� �
� 
	
�����

� �� ���
��%������� ,
 �&��� ��
g �� g′ �	
� ���� ������ ��������� �����

��

��� gt = tg′+(1− t)g �
 ��� �

	�� �
�
�	�� �	�� t ∈ [0, 1]� /	��
� ��	�� χt(V ) ���
�����
� 
	
������ ��� �� ��	
��� ���
���
�
 ������ �� gt �� �� �� 
	

���	
 �� '���������� ���	
���� �������
���	
 t �→ χt(V ) ���
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��� ��$
�� ��� [0, 1] ��� ��� 
	

���� �� �	

 
	
���
�� �� ���� 
� ���� ���
���
��� ��� ������� �
��"����

����	
	�� ������ �	 
�	��� �� 
��������
� [Pf(R)] �	�� H2(V ;R) ��	������ ��

����� ��,���� �� �	 ����	
� V 
���	
��� ��
����� � �� �	�� ����� �� �	 �����	 Eul(V )�
��� ��	��	�
��

χ(V ) = Eul(V ) � [V ]

��� �	 
�	��� ����	����	�� �� V ��	������ ���
�����
� ��,������	�

��� �� �	 ����	
��
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� �
 	�	���	 ��������	

��� �����	� 	
���	
� 	
����� �
� 
����
���� V ����
 �� ����
����
 	
���	


����
���� V ′ � ���� �������
� � 	��� ������� ����� ����
� � ��� �����	�
�
� �������
�����
π : V ′ → V � �����	
��� �� ���� ���� �� 	����� �
��
� 
 V ′ ������� ��� �����	�
	
���	
� 	
����� 
����
����� 
���� ��� ������� ��	���
��� ��� π ���� �
��
 �� V �
�

�
���� �� ���� �
��
� �� V ′! "� 
�
��� π : V ′ → V ��
 ���� ����� � ��
�
�������
��#� �� ���� ������
 � �� π1 : V ′

1 → V �
��#�� ��� ����� ��
����
��� �� ����
� ��

����
�
������� F : V ′
∼=→ V ′

1 
�� ��� π′
1 ◦F = π!

�� ������ �	
�� χ(V ) 

��� ����� ���	 � 1
2
χ(V ′) � 
���� ��

�� �� ������� ��� �����

�	�� ��
����������� �����

$�� �������� �������	�
�
� ��
������ S2 → P
2
R
� ��� 	
����
� � ����
���� ���� �
��
�

��
��
���� ��� �� ���#��� ��
 �� ����
����
 
����
���� �� ���� ��
��	
�� ���� P2
R
� �


�
�� ����
�� �� ��� ���� �
�� ��� χ(S2) = 2 �
 χ(P2
R
) = 1!

��� �����	
� �� 
������������

%���
 �� �
�
��� ��� χ(V ) ��
 �� ��
���� ��� ���	����� �� ���
��
��
�
� ��

��
�#�� �� &����'(
���
� ������
�� 

�
 ����
�� ������ �
�	
�
� �������
�����
� ������� ���������� θ : U → R/2πZ ���
 

��
��� �� ������� �
	������
 )�!�! ���

�����
�
� ���� 
����
 ���������
 	
����� ��	��� ���� U* �� ��� �
�	
�
� θ̂ � �������
������� )�� +������+ �� �������*� ���� ������ � 	
��
��
� ����
��� ��#� ���
���� �� 2π!

,� �� �����
� ��� �� �������
����� dθ̂ ���� 
�� ���#�����
 �� ������ ��� �� θ� �
 ���
��� �������
������ dθ̂� ������� �
	������
� �� ��	
����
 �
�� ������ ��
�������
 )�!�!
��� 

�
 U* ��� -'�
��� ������ ��� U � ��� ��
� �

� dθ )��� ����
 ��� ��	����������

���	
� �� ����
 �� �� �

�
�
� �*!

.
�
 θ : S1 → S1 ��� �����	�
�
� 	
�
���� � ��� �
�� �� 	��	�� S1 
����
� �

����
��� � R/2πZ� θ(t) ����� ���� ���
���� ��
��� �� 2π �
����� t ������
� �� / �
2π � 	���
 	�
 ��
���� d� ���
� ������� �� ����� �� �������	�
�
� �
 ��� ��
 ����� �
�����
θ ��
 �������
������ � ����
������

d =
1

2π

∫
S1

dθ.

.� ��
� 	����� ��
����
�
�
� �� 	��	�� )�
��	� �
 ��
 �����
������
*� �� ����� ��
�������	�
�
� �� 	����� ���!

.���
���
 �
�� �����
��
 �� �����	� V 
����
����� �
�� ���
�� ��
�
����� ����'

����
 	��
����� 	
�����
�� ���
�	���#��� ����� ��� 	����� �� ��	
����! .
�
 v ��
	���� �� ��	
���� �������
����� ��� V � ���	 ����
��������
 ��� ���������
�� �� ��
'
����mα )�� �
���� ��	����������
 ��� ������� V ��
 ����
��� 	
���	
�*! 0� �

���
Σ = {mα}α ���������� �� 	�� �
��
� ����������!

�	�����	 
���
� ,� ����
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��� �� 
��� 	����� �� ��	
���� � ���������
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����!
0� ���
 �� ���
 �� ������� ��� 	����� ������� �� �����	� 	
���	
� )��� �������� ��
�������
 �� �� ���
��	
�
� x|

Sh
�� �� �
�	
�
� 	

��
���� x � �� �����	�� ���� �� 	��

��� �����	�� Sh �� ������	�	� -!1!2 �� 	� 	����
��*!

�� ���� ��	
	����	 ��
��� �� �������	 �	�
�

�� ����	���� ��	 θ ��	�� �	� ���	��� ���� R/2πZ 	� ��� ���� R�


�� �� 	��	�� ��� ����� �������	� �	 v �� ����� 	� �	���	� v �������	� �� ��	�� ��� ������



§ ���� �����	
� �� 
������������ �

���� ����	
��
� 
���		��	 ���������
��
 �� 	������ ����� 
�
����� ���
��������
g �
 ����� �����
�
���� ���
 Dα �� ��	��� ��
���
 ��
�����
 mα ����� �� ���	�����
��
���
 ��
��
����� � �� ��	���� ���
 �� 	����	��� �� ���� ∂Dα �������
�����
��� 
���������  � 	����	��� ��	 ��	���	 Dα 	�!	�

��
 ��
�
	 ���� ���

Dα ∩Dβ = ∅ 	� α 
= β.

���
 (Aα, Bα) �� ���
� �� ���"��	 ��
�����
�	 �����
	 	�� �� ���	����� Uα �� Dα�
��� V \ Σ� ��#��		��	 A = 1

‖v‖
v� �
 ��
��	 B �� ���
� �� ���
���	 �����
 �� A ���

��
�
��� �� +π
2
� ���
 D′

α �� ���	����� ��
���
 �� mα �����	 ���	 ����
������ �� Dα�
$�#��		��	 ��� ��������� ∇ ���	�����
 �� 
�
����� g� �
 ����#��
 ∇B = 0� ∇A = 0
	�� �� ��
���
��
���� U �� �� ������� ��	 ��	���	 D′

α�

�������� ������ � ������ ��	
� ���
�
��
 ������

����� �� ��	
�
�� ��

��� �	���

����
� 
�	��	�� �� 
����� ��

����
��

���	��� �� �������� R ����� 
���� ��������� �	
 ����� 	�� U � ����
������
∫
V
Pf(R)

�	
 ����� � �� 	�

�
∑

α

∫
Dα

Pf(R)� %�
��
 ωα �� ���
� �� �� ��������� �� ��		�	
�� Uα ����
���
��
 � (Aα, Bα)� �� ���
��� �� �
�&�	 �
������∫

Dα

Pf(R) =
1

2π

∫
∂Dα

ωα.

���
 θα : ∂Dα → R/2πZ ������� �� ��
�
��� 
�� ���

A = cos θα Aα + sin θα Bα , B = − sin θα Aα + cos θα Bα 	�� ∂Dα .

'� �����
��� ∇B = 0 	�����
 ( ωα = dθα 	�� ∂Dα� ��� ���	�����
� ����
������
1
2π

∫
∂Dα

dθα �	
 �� ����� ����� �������
��� �� ������ ���	 ���)
*
� ( ���	
 �� ���

����� ����� ������� ���
���� �� ���
��������� �� mα �� ���
� �� ���
���	 v� �
 ���
���� ��
��� I(v,mα)�

I(v,mα) = 1 I(v,mα) = 1 I(v,mα) = −1 I(v,mα) = 2

��

� ������

(i) ���
���� I(v,mα) 
� ����
� �	� �	 ������
���

 �� v �	� 	
 �����
��� �����


�������

 ��
�
 �� mα�

(ii) ���
���� I(v,mα) 
� ����
� 
� �	 � ��� �� (Uα, Dα)� 
� �	 � ��� �� (Aα, Bα)�

� �	 � ��� �� �� ��
���	� �����

��

� g�

!� 
� ����
� ��� 
�
 ��	� �	 � ��� �� ������

�
��
 �� Uα �
�	�
� ��� ����� �� V � ��

���
� �	��� � 	
� ���
�"��
��
 �#�� �� �� �����
� V 
���
 ��� ����

�����
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����� �� ����	
 ���
�
������� �
 Uα� dθα 
�� ����	�
 
� ��� ������� 
� ∂Dα

����	
 ���
�
�������� �
 ��
�
 ��
 ����
�
��� ������	
��

∫
∂Dα

dθα ����� �������
� �

����	
 ����

�� U1
α, D

1
α 
�� �� ���

 ������
 �
 �������	
� �
 mα� �� �
�� ������
� ������


U2
α, D

2
α �
 �� �� ��
 U2

α 
� D2
α ���
�� 

��
����
�
�� ������ ���� Uα∩U1

α 
� Dα∩D1
α�

!� �
�� ����� ������
 D′
α ������ ���� ���� ������
�
�
 �
 D2

α� "� ��
�
 ωα = dθα

�� ���� �

��
 ��
 ���� Dα \ D2

α� ���# ���	�����
∫
∂Dα

dθα =
∫
∂D2

α
dθα� 
� �
 �$�
∫

∂D1
α
dθα =

∫
∂D2

α
dθα�

�� (A′
α, B

′
α) 
�� �� ���

 ����� �
 

��

� �
�����
��� ��

��� ��
 Uα� �� 

�%

����
 ωα ��
 ωα − daα� �# ����	�
 �
 
������� aα �

�
����� �
 ����

 �
 (Aα, Bα)
& (A′

α, B
′
α) 
�� ����� ��
 ���� Uα� "� ��
�
 daα 
�� ���� 
'���
 ��
 Dα �
 ��
�
 ��
∫

∂Dα
dθα − daα =

∫
∂Dα

dθα� ����
�� �� ��
���
 �
 ���(
��

�� g′ 
�� ��
 ���

 ���
���
 
�
�����
��
� gt = tg′ + (1− t)g 
� 
�� 
���

 ��

��
� ��
 ���� t ∈ [0, 1]� "������
 It(v,mα) ����� & �����
 �
 �� ���
���
 gt 
�� ��

�������� �������
 �
 t� & ���
�
� 
����
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��
 
�� ���� ��������
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�� V ��
�� ��� �
�
���*�
� ���� ����� �
 �
��
�
� v ��
 V 
�� �� �
��
����� ����
����� �
 �
��
�
� v′ ��
 ��� 

�$�
�
�� �
�
���*�
 V ′ & �
�' �
����
��� 
� ����

���	���
��� �����
 mα �
 v ��
 V 
�� �� �
��
����� �
 �
�' ������ ���	���

� m1

α 
�
m2

α �
 v′� �
�� ��
 I(v,mα) = I(v′, m1
α) = I(v,m2

α)�

!� � ����� ������
� �
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���
 �+�����
�%,����� 
�
� v �� ��	�� �� �������� � �
����	�
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���� ��� ��� ����	�� ����	��� �	�� ���� V (��
���	��� �� ���)� ����	�
�� ��
�	���

��� ���
��� �

χ(V ) =
∑
α

I(v,mα).

�� �	��
���
��
∑

α I(v,mα) �� ������ �	� �� ��	�� �� �������� v�
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�
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Exemples de champs de vecteurs sur la sphère

Deux singularités d’indice 1 Une seule singularité d’indice 2

��� �� ���� 	
�� �
�� � ���
����� �

 �
 ���
 
� �� ��
�
���
 �
 ��
�� ���� �
� �

�
� �
���	
�

	���
�
� 	����	�
� ���� ���� ���� ����������� ���
�
������	��� 
�� �
�� �� ���� 
� 
�
� 	�����
��



� 	 ��� �
 �
	�

�� ���� ���!
������ �
� 	 �	
�
 �
 	
� �

� �
���	
��


